Completing @ of the return form
Refer to the example below when

Consumption tax calculation  cicuaing your consumpton tex.

. step.1 Arrange the details of your taxable transactions USe e information appsarnglin e

Calculate the total amount of sales (exclude consumption and local consumption table for determining the taxability of
taxes) relating to taxable transactions effectuated during the taxable period consumption tax transactions on P47,
(January 1st to December 31st, 2019). which provides a standard for determin-
ing whether or not a certain business is
Use the table for calculating taxable transactions (Table A). (P38) taxable.

step.1-1 Enter the amounts by tax rate from ledgers, etc.(separate accounting) to column ) o
A of the table for calculating taxable transactions(Table A). In the case of income dirived from
agriculture or real estate, arrange the
step.1-2  Enter the portion of the amounts in column A that is not related to taxable details of your taxable transactions
transactions in column B. using the table for calculating taxable

step.1-3  Calculate the amounts in column A that represent taxable transactions (amount transactions for each source.

of taxable transactions; the difference between the values in A and B) and enter
the result in column C.

step.1-4  Enter the 6.3% tax rate applicable in column D, the 6.24% tax rate applicable in
column E, and the 7.8% tax rate applicable in column F from column C.

Example: Kouno Store

The following is an example of how to complete the Consumption and local consumption taxes final return form.

Kouno Store is business that sells merchandise retail.

O Its income for 2019 was limited to business income derived from retail sales and the sale of fixed business
assets (capital gains).

O lts taxable sales for 2017, its base period, was ¥19,951,456.

O lts entries pertaining to consumption and local consumption taxes were effectuated using the "tax included
accounting method".

O It was a Tax-exempt business in 2018.

O The following(P13) represents the results taken from ledgers, etc.(separate accounting) entered in the table for
calculating taxable transaction.

The following are special mentions concerning consumption and local consumption taxes.

+ ¥350,000 worth of sales from beer coupons is included in its total sales (revenue) of ¥25,280,000. Of the sales amount
¥24,930,000, the taxable transactions, tax rate 6.3% applicable amount is ¥17,690,000, tax rate 6.24% applicable amount
is ¥4,210,000, tax rate 7.8% applicable amount is ¥3,030,000.

* Its initial inventory which is all from taxable transaction was purchased on 2018 when it was a Tax-exempt business.

*The purchase of ¥320,000 of beer coupons that is a Non-taxable tarnsaction, is included in the amount of purchases of
¥17,470,000. Of the purchases amount ¥17,150,000, the taxable transactions, tax rate 6.3% applicable amount is ¥13,000,000,
tax rate 6.24% applicable amount is ¥2,900,000, tax rate 7.8% applicable amount is ¥1,250,000.

*The following expenses are those relating to all taxable transactions, breakdown the amount of each applicable tax rate is

as follows.
Subject Total 6.3% tax rate applicable | 6.24% tax rate applicable | 7.8% tax rate applicable
Utilities ¥105,000 ¥70,000 ¥0 ¥35,000
Travel expenses ¥69,000 ¥45,000 ¥0 ¥24,000
Communication costs ¥167,000 ¥110,000 ¥0 ¥57,000
Advertising expense ¥96,000 ¥64,000 ¥0 ¥32,000
Entertainment fee ¥76,000 ¥56,000 ¥15,000 ¥5,000
Repair costs ¥121,000 ¥85,000 ¥0 ¥36,000
Supplies expense ¥201,000 ¥150,000 ¥0 ¥51,000
Miscellaneous Expenses ¥48,000 ¥28,000 ¥17,000 ¥3,000

* Welfare expenses such as for worker's compensation and unemployment insurance of ¥81,000 are all covered by the
employer.

* Employee commuting expenses of ¥33,000 (tax rate 6.3% applicable amount is ¥24,000, tax rate 7.8% applicable
amount is ¥9,000) are included in the ¥1,233,000 salary expeses.

*Land and house rents of ¥120,000 are all land rent (Non-taxable transaction).
O Other items include refurbishing costs, ¥600,000 for shutters and ¥320,000 for display shelves in August 2019.
O A delivery vehicle was sold for ¥280,000 in September 2019.

O There are returns, discounts and rebates relating to sales and purchases, however, the accounting method
used directly deducted these amounts from the sales amount or purchases amount.



Example of Table A: Kouno Store
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step.2 Calculate your total amount
of taxable sales

Use the table for calculating taxable sales

(Table B)(P39).

step.2-1

Enter the values appearing in (D(column C to F) of the

table for calculating taxable transactions

(for business income; Table A).

— Enter them in (D of table B, respectively.
step.2-2

Enter the values appearing in @(column C to F) of the

table for calculating taxable transactions (for agriculture

income).

— Enter them in @ of table B, respectively.
step.2-3

Enter the values appearing in @(column C to F) of the

table for calculating taxable transactions (for real estate

income).

— Enter them in 3 of table B, respectively.
step.2-4

If there are taxable sales relating to other sources of

income, enter the amount of revenue and the portion of

that amount excluded from taxable sales and then
calculate the difference.

— Use @ to (6 of Table B.

step.2-5
If there are taxable sales relating to income derived from
the transfer of fixed business assets enter the amount of

capital gains and the portion of that amount excluded from
taxable sales and then calculate the difference.

— Use @ to @ of Table B.
step.2-6

Calculate your total taxable sales.
— Use (9 of Table B.

Example of Table B: Kouno Store

step.2-1
Enter ¥ 24,930,000
Enter ¥ 77,690,000

(Table A, column C, @) in @ of Table B.

(Table A, column D, @) in 1)(6.3% tax rate
applicable) of Table B.

4,270,000 (Table A, column E, @) in (1)(6.24% tax rate
applicable) of Table B.

3,030,000 (Table A, column F, @) in (1)(7.8% tax rate
applicable) of Table B.

Enter ¥

Enter ¥

step.2-5
The sale of a delivery vehicle is treated as a transfer of a fixed
business asset.

The balance of taxable sales is obtained as follows.
¥ 280.000 — ¥ 0 = ¥ 280,000

Enter ¥ 280,000 in @ and ©® of Table B.
Enter ¥ 280,000 in @ and (9)(6.3% tax rate applicable) of Table B.

step.2-6

The total amount of taxable sales is obtained as follows.
¥ 24,930,000 + ¥ 280,000 = ¥ 25,270,000

6.3% tax rate applicable

¥ 77,690,000 + ¥ 280,000 = ¥ 17,970,000

6.24% tax rate applicable ¥ 4,270,000

3,030,000

7.8% tax rate applicable ¥
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[ step.3 Calculate your tax base

step.3-1

Multiply the total amount of taxable sales (Table
B, (9) by 100/108 or 100/110, calculate the total
sales relating to taxable transactions and enter
them in Schedule 1-1 and 1-2(column(-1),

respectively.

* |f using the "tax excluded accounting method(P37)",
calculate your tax base by adding the amount of
temporary received consumption tax, etc. relating
to taxable sales to your total amount of taxable
sales and multiplying the resulting figure by

100/108 or 100/110.

Ve

6.3% tax rate applicable

Taxable sales X 100 _
(tax included) 108

6.24% tax rate applicable

Taxable sales X 100 —
(tax included) 108

7.8% tax rate applicable

Taxable sales X 100 _—_
(tax included) 110

= Tax base

= Tax base

= Tax base

step.3-2

Enter the calculation result for step 3-1 in O of
scheduled 1-1 and 1-2 rounding the figure down

to the nearest ¥1,000.

Example of Table B: Kouno Store

step.3-1
@) of Table B is obtained as follows.
¥ 17,970,000 X103 = ¥ 16,638,868
(Enter in M-1(column C,X) of Schedule 1-2 and (D-1(column X) of Schedule 1-1)

@) of Table B is obtained as follows.
¥4.210.000 X138 =¥ 3,898,148
(Enter in M-1(column D) of Schedule 1-1)
@ of Table B is obtained as follows.
¥3,030.000 X3 =¥ 2,754,545

(Enter in M-1(column E) of Schedule 1-1)

Total amount is obtained as follows.
¥ 76,638,888 + ¥ 3,898,748 + ¥ 2,754,545 = ¥ 23,297,587

(Enter in M-1(column F) of Schedule 1-1)

step.3-2
Round down the figure(step 3-1) to the nearest ¥1,000 to obtain
the tax base.
Enter in @ of Schedule 1-1 and 1-2.
¥ 76,638,888 my ¥ 16,638,000
(Enter in (column C,X) of Schedule 1-2 and (D(column X) of Schedule 1-1)
¥ 3,898,748 wp ¥ 3,898,000
(Enter in M(column D) of Schedule 1-1)
¥ 2,754,545 wmyp ¥ 2,754,000
(Enter in M(column E) of Schedule 1-1)
Total amount of tax base is obtained as follows.
¥ 76,638,000 + ¥ 3,898,000 + ¥ 2,754,000 = ¥ 23,290,000
(Enter in M(column F) of Schedule 1-1)

The taxable for calculating taxable sales for Kouno Store is as follows.
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. step.4 Calculate your consumption tax

Calculate the amount of a consumption tax by
multiplying the " Tax base" of schedule 1-1 and
1-2 by the consumption tax (national tax) rate of
6.3%, 6.24% or 7.8%. Enter the calculation result
in @ of schedule 1-1 and 1-2 .

Ve

6.3% tax rate applicable
Tax base X 6.3% = Consumption tax

6.24% tax rate applicable
Tax base X 6.24% = Consumption tax

7.8% tax rate applicable
Tax base X 7.8% = Consumption tax

A\ J

Example: Kouno store

Example: Kouno store

step.4
The amount of consumption tax is obtained as follows.

¥76,638,000 X 6.3% = ¥ 1,048,194

(Enter in @(column C,X) of Schedule 1-2 and
@(column X) of Schedule 1-1)

6.24% tax rate applicable

¥ 3,898,000 X 6.24% = ¥ 243,235

(Enter in @(column D) of Schedule 1-1)

7.8% tax rate applicable
¥ 2,754,000 X 7.8% = ¥ 274,872
(Enter in @(column E) of Schedule 1-1)

Total amount of tax base is obtained as follows.
¥ 7,048,194 + ¥ 243,235 + ¥ 274,872

=¥ 7,506,247

(Enter in @(column F) of Schedule 1-1)

To the right is an example of Schedule 1-1 and 1-2 filled in with results of calculations effectuated up to this point.

Below is a review of those calculation results.

#4-(5) HHRA

Completing your return

Calculation
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step.5 Caluculate your total taxable
purchases

Use the table for calculating taxable purchases
(Table C) (P40) for calculating the taxable purchases

step.5-1
Enter the values in the table for calculating taxable purchases
(Table C) based on the figures appearing in the table for
calculating taxable transactions (for business income; Table
A, @3, column C to F)
— Use @ of Table C.

step.5-2
Enter the amount appearing in the table for calculating taxable
transactions (for agriculture income, 39, column C to F)
— Use @ of Table C.

step.5-3
Enter the amount appearing in the table for calculating taxable
transactions (for real estate income, @), column C to F)
— Use 3 of Table C.

step.5-4
If there are taxable purchases relating to other sources of
income, enter the amount of purchases and the portion of
that amount excluded from taxable purchases and then
calculate the difference.

— Use @ to ® of Table C.

step.5-5
If there are taxable purchases relating to the acquisition of
fixed business assets, enter the acquisition cost and the
portion of that amount excluded from taxable purchases and
then calculate the difference.

— Use @ to @ of Table C.

step.5-6
Caluculate your total taxable purchases.
— Use (9 of Table C.

step.5-7

Caluculate the consumption taxes on taxable purchases by
multiplying your total amount of taxable purchases by
6.3/108, 6.24/108 or 7.8/110.
— Use (D to (3 of Table C.

Example of Table C: Kouno Store

step.5-1

Enter ¥ 78,066,000 (Table A, column C, 39) in @ of Table C.
Enter ¥ 73,632,000 (Table A, column D, G9)
in (1(6.3% tax rate applicable) of Table C.
Enter ¥ 2,932,000 (Table A, column E, G9)
in (1)(6.24% tax rate applicable) of Table C.

Enter ¥ 7,502,000 (Table A, column F, G9)
in 1)(7.8% tax rate applicable) of Table C.

step.5-5

The cost for shutter and display shelves incurred when refurbishing
the store is considered an acquisition of fixed business assets.

The balance of taxable purchases is obtained as follows.
¥ 920,000 — ¥0 = ¥ 920,000
Enter ¥ 920,000 in @ and © of Table C.

Enter ¥ 920,000 in @ and (9)(6.3% tax rate applicable) of Table C.

step.5-6

The total taxable purchases is obtained as follows.
¥78,066,000+ ¥ 920,000 = ¥18,986,000
Enter ¥ 78,986,000 in @ of Table C.

6.3% tax rate applicable
¥ 73,632,000+ ¥ 920,000 = %14,552,000

6.24% tax rate applicable
¥ 2932000

7.8% tax rate applicable
¥ 7,602,000

step.5-7

@), and @) of Table C are obtained as follows.
@: ¥ 74,552,000 x 83 — y 845,866

108
@:¥ 2,932,000 x5:24 = ¥ 169,404
©®:¥7,502.000 x% = ¥ 7106.505

RREATEHAX

i
il

] step.5-1

—
118,066, 000113, 632,

1 5‘0‘2,005
step.5-2

]step.5-3

P o BB E[D b MR
6. 3R Y| 6. 24

i

step.5-4

#

920, 000
step.5-5

920,000/ 920, 000

N T2 - 20 (1\'\!4//‘wv\hnl'~ TEZ - 1ODEMRA]
‘“ﬂ“m,986,000|14,552,000| 2,932,000| 1,502,000H5tep-5'6

&z

848, 866

169, 404 || StEP-5-7

106, 505




For calculation in steps 6 to 16, please use the table for calculating the taxable sales ratio and
deductible tax on purchases (Schedule 2-1 and 2-2) (P43,44).

step.6 Calculate the amount of the transfer
value of taxable assets, etc.

step.6-1
Enter your taxable sales, Tax-exempt sales, exports of
Non-taxable assets, etc. in the table for calculating the
taxable sales ratio and deductible tax on purchases
(Schedule 2-1 and 2-2).
— Enter the values in D to 3 of schedule 2-1 and in
of schedule 2-2.

step.6-2
Calculate the amount of the transfer value of taxable assets,
etc. (sum of D to 3 of Schedule 2-1).
— Use @(column F) of Schedule 2-1 and @(column X) of
Schedule 2-2.

step.7 Calculate the amount of the
transfer value of assets, etc.

step.7-1
Enter the amount of the transfer value of taxable assets, etc.
(step 6-2) and the Non-taxable portion of each type of income
listed in Table B not considered taxable sales.
— Enter the values in ® to ® of Schedule 2-1.

step.7-2
Calculate the amount of the transfer value of assets, etc.

(sum of ® and (& of schedule 2-1).
— Use @ of Schedule 2-1 and 2-2.

. step.8 Calculate the taxable sales ratio

Divide the amount of the transfer value of taxable
assets, etc. (taxable sales; step 6-2) by the amount
of the transfer value of assets, etc. (total sales; step
7-2).

(Note) Fractions of taxable sales ratio are, in principle, not

processed, but are allowed to be rounded down at any
decimal point.

— Use (® of Schedule 2-1 and 2-2.

step.9 Calculate the consumption taxes
on taxable purchases

Enter the total taxable purchases (tax included)
calculated in Table C (Table C (9) for the amount of
expenses (tax included) relating to taxable
purchases and enter the value in ) to @ of Table
C for the amount of consumption taxes on taxable
purchases.

— Enter the values in @ to @9 of Schedule 2-1 and 2-2.

Example: Kouno store

step.6-1
Enter ¥ 76,638,888 (Table B, @) in M(column C,X)
of Schedule 2-2 and (D(column X) of Schedule 2-1.
Enter ¥ 3,898,748 (Table B, @) in (O(column D)
of Schedule 2-1.
Enter ¥ 2 754,545 (Table B, ®) in W(column E)
of Schedule 2-1.

Enter ¥ 23,297,587 in M(column F) of Schedule 2-1.

step.6-2

The amount of the transfer value of taxable assets,
etc. is obtained as follows.
¥ 23,297,587 + ¥ 0+ %0 =¥%23297,587

step.7-1
Enter ¥ 23,297,587 (Schedule 2-1, @(column F))
in ®(column F) of Schedule 2-1.

Enter ¥ 350,000 (Table A, M(column B)) in ®
(column F) of Schedule 2-1.

step.7-2
The amount of the transfer value of assets, etc. is
obtained as follows.
¥ 23,297,587 (transfers of taxable assets) +
¥ 350,000 (non-taxable sales) = ¥ 23,647,587

step.8

The taxable sales ratio is obtained as follows.
¥ 23,297,587 (transfers of taxable assets) +—
¥ 23,647,587 (transfers of assets) = 98.5 %

step.9

Enter ¥ 74,552,000 (Table C, 10(6.3% tax rate
applicable)) in @(column C,X) of Schedule 2-2
and ©@(column X) of Schedule 2-1.

Enter ¥ 2, 932,000 (Table C, 49(6.24% tax rate
applicable)) in @(column D) of Schedule 2-1.

Enter ¥ 7,502 000 (Table C, 19(7.8% tax rate
applicable)) in ©@)(column E) of Schedule 2-1.

Enter ¥ 848,866 (Table C, @) in @(column C,X)
of Schedule 2-2 and @9(column X) of Schedule 2-1.

Enter ¥ 769,404 (Table C, @) in (9(column D)
of Schedule 2-1.

Enter ¥ 706,505 (Table C, ®) in @(column E)
of Schedule 2-1.

Enter ¥ 78,986,000 (Table C, @) in ®)(column F)
of Schedule 2-1.

Enter ¥ 7,724,775 (Table C, sum of (D to (3)
in @(column F) of Schedule 2-1.

Completing your return

Calculation
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l step.10 Calculate the consumption tax on Specific taxable purchases

Sole proprietors with a taxable sales ratio (step 8) under 95% and have received business-to-business electronic
services needed to calculate.

l step.11 Enter the amount of consumption tax relating to taxable freight

Enter the amount of consumption tax levied, or the amount of any that should be levied, on taxable freight retrieved
from bonded areas.
* The amount of local consumption tax is excluded.

—> Enter the value in @3 of Schedule 2-1 and 2-2.

step.12 Calculate the consumption tax adjustment if you have been granted or have
lost tax liability exemption status

It should be add when corresponding to A, and should be subtract when corresponding to B

A Amount of consumption tax adjustment if you were a Tax-exempt business in 2018 and became Taxable person in 2019

Expenses incurred for the acquisition of items relating to

taxable purchases for the portion of inventory held on X 6.3 __ Amount of consumption
December 31st, 2018 transferred in Japan within the 108 — tax adjustment
taxable period during which you were Tax-exempt business

— Enter the value in (49(column C,X) of Schedule 2-2 and (4(column X) of Schedule 2-1.

B Amount of consumption tax adjustment if you were a Taxable person in 2019 and became Tax-exempt business in 2020

6.3% tax rate applicable

Expenses incurred for the acquisition of items relating to taxable
purchases (6.3% tax rate applicable) for the portion of inventory held ¥ ——=- =
on December 31st, 2019 transferred in Japan 2019 108

6.3 __ Amount of consumption
tax adjustment

— Enter the value in (9 (column C,X) of Schedule 2-2 and (9 (column X) of Schedule 2-1.

6.24% tax rate applicable

Expenses incurred for the acquisition of items relating to taxable .
purchases (6.24% tax rate applicable) for the portion of inventory held ¢ 6.24 _ Amount of consumption
on December 31st, 2019 transferred in Japan 2019 108 tax adjustment

— Enter the value in (9(column D) of Schedule 2-1.

7.8% tax rate applicable

Expenses incurred for the acquisition of items relating to taxable .
purchases (7.8% tax rate applicable) for the portion of inventory held ¢ _7.8 _ Amount of consumption
on December 31st, 2019 transferred in Japan 2019 110 tax adjustment

— Enter the value in (9 (column E) of Schedule 2-1.

Example: Kouno store

step.12

Calculate the consumption tax adjustment necessary in the event Kouno store became a taxable
business newly in 2019 losing its tax liability exemption status.
The amount of consumption tax adjustment is obtained as follows.

6.3

¥ 1,741,000 (initial inventory) X308 = ¥ 101,558



step.13 Calculate the total amount of Example: Kouno store
taxes on taxable purchases, etc.

step.13

The total amount of taxes on taxable purchases, etc.
is obtained as follows.

Calculate the sum of the consumption taxes on
taxable purchases (step 9), consumption taxes on
Specific taxable purchases (step 10), the consump-

tion tax relating to taxble freight (step 11), and the 6.3% tax rate applicable

amount of consumption tax adjustment (step 12). ¥ 848,866 +¥0+ ¥0+ ¥707,5658 = ¥ 950,424
— Use @ of Schedule 2-1 and 2-2. (Enter the value in @®(column C,X) of Schedule 2-2
and @(column X) of Schedule 2-1)
I step.14 Calculate the deductible tax 6.24% tax rate applicable T——
on purchases ¥ 169,404 + %0+ ¥ 0+ ¥0 = ¥ 169,404
_, Use @9 to @ of Schedule 2-1 and 2-2. (Enter the value in @9(column D) of Schedule 2-1) Calculation
A If taxable sales amounting to 500 million yen or less during 7.8% tax rate applicable
the taxable period and the taxable sales ratio (step 8) is 95% ¥ 706,505 + ¥ 0+ %0+ %0 =¥ 106,505
or more, the total amount of taxes on taxable purchases, etc. (Enter the value in @(column E) of Schedule 2-1)

is completely deducted.

Deduct the entire amount of consumption taxes on Total amount of taxes on taxable purchases, etc.

taxable purchases. ¥ 950,424 + ¥ 769,404 + ¥ 706,505
X =¥17,226333
Total amount of taxes on — Amount of deductible (Enter the value in ®(column F) of Schedule 2-1)
taxable purchases, etc. tax on purchases
step.14
B If taxable sales amounting more than 500 million yen during Taxable sales amounting to 500 million yen or less
the taxable period or the taxable sales ratio (step 8) is under during the taxable period and the taxable sales
95%, calculate using either of the following methods. ratio is 95% or more (step 8: 98.5%), therefore, the

total amount of taxes on taxable purchases, etc.

<ltemized method>
effectuated by Kouno Store is completely deducted.

This method is used to calculate the consumption
taxes on taxable purchases by separating it into 3
classifications: the amount required only for
taxable sales (including Tax-exempt sales), the
amount required only for non-taxable sales and
the amount required for both.

Portion of the total Portion of the total amount of
amount of taxes on taxable + taxes on taxable purchases, etc. X Taxable sales — Amount of deductible
purchases, etc.that is required that is required for both taxable ratio tax on purchases
only for taxable sales and non-taxable sales

<Proportional method>
This method is used to calculate the deductible tax on purchases by multiplying
the consumption taxes on taxable purchases by the taxable sales ratio.

ratio ~ taxon purchases

Total amount of taxes on % Taxable sales _ Amount of deductible
taxable purchases, etc.

* Business using the proportional method must have applied the method for 2years
or more consecutively to change to the itemized method.
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J step.15 Adjust the amount of deduction

— Use @) to @ of Scheduled 2-1 and 2-2.

An adjustment of the amount of deduction is necessary if either of the following conditions apply to your
circumstances.

A If the amount of consumption tax relating to acquired fixed assets subject to adjustment was deducted in your 2017 consumption tax
return as per the following stipulations resulting in a significant change in the average taxable sales ratio, calculate the amount of
adjustment and enter the result in @) of Schedule 2-1 and 2-2.

*The entire amount was deducted due to a taxable sales ratio of 95% or more

* Based on the itemized method, the deduction was made as taxable purchases corresponding
to both taxable and Non-taxable sales

*The deduction was made based on the proportional method

B Sole proprietors using the itemized method who have changed the application of acquired fixed assets subject to adjustment as per the
following stipulations within 3 years of acquisition should calculate that amount of the adjustment and enter the result in @ of Schedule
2-1and 2-2.

*The application of the fixed assets was changed from taxable sales only to Non-taxable sales only
*The application of the fixed assets was changed from Non-taxable sales only to taxable sales only

What are fixed assets subject to adjustment?

Fixed assets subject to adjustment are assets such as buildings (including attached facilities),
machinery and equipment, vehicles and conveyance equipment, tools, fixtures, etc. purchased at a
price of ¥1,000,000 or more (tax excluded) for each item. Please contact any tax office for details.

l step.16 Amount of the deductible tax on purchases

— Use @ of Scheduled 2-1 and 2-2.

Calculate the difference between the amount of deductible tax on purchases (step 14) and the adjustment
amount of the deductible tax (step 15).

If the result is positive, it represents your deductible tax on purchases (@), Schedule 2-1 and 2-2). Enter it in
@ of Schedule 1-1 and 1-2.

If the result is negative, proceed to step 17.

l step.17 Calculate the tax adjustment for excess deductions

If the culculation result (step 16) is negative, enter that figure in @ of Schedule 2-1 and 2-2.

In the event accounts representing the sale of merchandise or the provision of services are uncovererable and
become bad debt, the amount of consumption tax included in those accounts receivable that became bad debt
(herein, "bad debt") can be deducted from the amount of consumption tax levied on the tax base. If you have
recovered previously deducted bad debt during the 2019 taxable period in whole or in part, calculate the
consumption tax included in the recovered bad debt. Enter the calculation result in @ of Schedule 2-1 and 2-2.

( N\
6.3% tax rate applicable

Total amount of recoverd bad debt X 6.3 — Amount of consumption tax

108 ~ relating to recoverd bad debt

Total amount of recoverd bad debt X % — SIS B GO LTl (e

— relating to recoverd bad debt
7.8% tax rate applicable

7.8 _ Amount of consumption tax
Total amount of recoverd bad debt X 7110 = relating to recoverd bad debt




Example of Schedule 2-1: Kouno Store

Kouno Store's table for calculating the taxable sales ratio and deductible tax on purchases is as follows.

HA-(2) H5hk
ft&2—1  BEBIRLEE - ERMISEABHESEOHER iz
OB Mo [ FE3 1 A~HRIT12-31| K4 X T 4 ¥ KEB
5 B A Bl 3 4y s FHBLEE6.24 % F 43 | Bl 7.8 % i A 47| A& # F
) X D E (X+D+E)
(fF&2-20OXMOEF) M [E] ] 5]
BOoOBo%® Ok om (B Ok & )| O
i 16,638,888 | 3,898,148 | 2,754,545 23,291,581
i B 5 S H ©
3&%&%&@#&%@%@ ®
WO 5 o~ %k LT éf‘@ﬂﬁ%
MEREEOEEEOHGOE(D+O+0)| @ 20O
REROL 23,291,581
MBEEOEESON MO (@ EHE)| ©®
c e 23,291,581
- DM~
% O g Ozt Al o FH ( + #2 200X M~
pE i % *F A ® ® )| @ 23,641,581
Bt 2E2-200 @XM~
o e N
uﬁvﬁx 7]“5@ Jc = %’] 5] ( @ / @ ) ® [ 98 %] Xtur'rut
(ft&2-20@X M D &4
FRBAL A NICHRD K i o & (Blid )| ©
14,552,000 2,932,000 1,502,000| 18,986,000
(fF#2-200 XD 450 (@D % 6.24/108) (@EH*7.8/110)
O S W/ NI ¢ VI N > S T < T = GO s = (1)}
v 848,866 169,404 | 106,505 | 1,124,775
(FR2-20O QXD 28 OB ORI, BB EBIATINAIM, 200, HEBBEANS L BEE O LM B,
B E OB AN NS £R D S H w0 FEH @
(fh#2-20 @XM &40 (IDEH# < 7.8/100)
B E B OBLME A2 fR DM B @
(ft&2-20BX M &4
T = G 7/ N = S T T < G U 1 ()
MEREORREZT R (25 (R
kAR ok B A KB T 5 R OB H
pw e a xw wE . 101,558 101,558
BOBIEA NS 0 BB O AR g (R
(@O+@+B=+W) 950,424 169,404 106,505 1,226,333
MR FE & NS5 MU T . o (F#2-20W®XHl O 5:45)
OB OE R B A N 9% % Lk oo i 4 ®
’ (@0 4%) o 950,424 169,404 106,505 1,226,333
5 5%95 (FF&2-20@XM D45
GO FBTE EFICoRET L0 @
o g B %) 1A
= il N (T E2-2DBXMO 2T
s T (BOIH. MBS I LIEMBLE LI
7t M ﬁ?#@b’(i‘i’a“é‘bm
e N R I e
BB | B A IR S
v @+ (@®xXD/@D))
5 PANET] R2-20@ XM 248
UUEB iRy o smeit AR | g (10T
513 o EOBE (BX@/®)
O s A LB OmE EEEEIED o [
e |TH e BLAE oo RO (O B OO o B
,, Ejﬁ (fF&2-20 @XM D &5
Fi oo G2 [ 7 R A AR B D FRRRBL RS D) ®
gﬁg %FHLK% (2K RIS DK i)
}7‘5 F? “t % H_ A HE %ﬁ (fH#2-20 @XM &40 KA 1-10@DR~ KA R1I-1ODER~
| (@ oeosm sas@ssoaon | | 950,424 | 169,404 | 106,505 | 1,226,333
‘§| %ﬁ |§/% ]@ j( nﬂ % ﬂ‘ﬁ %E (FFZ2-20@XH > 4:%70) KA 1-10@DR A~ KA EI-1OQEM~
[(®., OXIZODEH) +@+@) N~ AT ADKE @ I:
(FF#2-20@B XD 4:47) AR 1-10@DH~ AT RI-IOBER~
S I " SR e = S S (- G A 1 %)
TER 1 SHEOIFIZBOTIE, TNREOREEEETH,
2 537 AENTRG] 5385 L -2 R L Tine %7 5,
3 @R UM, 51X, BIREL, #1518 th ASHlio&: DB A (HEARHIEI0IRE %0 Sz AR AN L EERHL TOAHAEIR ) ISt TOSEE R RO A TR T 5.
(RL.10. 1A% & T #RBUNRTA)

I\

J\

/\

I\

I\

/\

I\

J\

step.6-1

step.6-2

step.7-1

step.7-2

step.8

step.9

step.10

step.11

step.12

step.13

step.14-A

step.14-B

step.15-A

step.15-B

step.16

step.17

Completing your return

Calculation
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Example of Schedule 2-2: Kouno Store

Kouno Store's table for calculating the taxable sales ratio and deductible tax on purchases
[ For taxation period including transfer of taxation period subject to transitional measures ] is as follows.
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#54-(6) 54k
H®2—2 BB LEE R %ﬁﬂ@ﬂﬁ%wg’rﬁi —
H - B L E m]
K4 X4 B FE KEB
. B Bl 2 3 % i 4| Bl 24 % i 5y Bl 6.3 % 4| IR B2 4y b BEX
a A B c (A+B+C)
] &l et #2- 100X~ M1
OB o kB o#m (B O T )0
0 16,638,888 | 16,638,888
) B e L w © step.6-1
#%ﬁ%ﬁﬁ’éé‘miﬁﬁj%@ﬁﬁﬂx ®
e Sh 3 S~ B kL2 E Ol _
SERERIOE MR M
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El i Bl 7 = # ©
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SEEIOE B =
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HOBCDMIE, TEITE LHIAO5KIN, 1o, FERBUEARS DS B EEO RIS, | FHTRZTOOXH~ =
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- ‘o:h'{jllial77 m step.
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OB E B EA BN 9% % ko s A ® step.14-A
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5 o5 SRR 1ODX~ =
- BDHL @B EFICOHZET LD @
B0 g P ——— R 1OBXA~
s xf |(OOIH BMBLIE LT EIEMBLE LTI
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. step.18 Calculate the amount of tax on value of refunds, etc.

If there were any returns, discounts or rebates charged against goods sold or provision of services, calculate
the consumption tax relating to those amounts and enter the result in ®-1 and ® of Schedule 1-1 and 1-2.

e 1\

SR erdeic)  Amount of returns, X 6.3 _ Amount of tax on value

leGE1EAN  discounts or rebates 108 ~— of refunds, etc.
PZUSEIIEE]  Amount of returns, X 6.24 _ Amount of tax on value
GIUJCCIICIN discounts or rebates ©° 108 of refunds, etc.

7.8% EWIEIC]  Amount of returns, X 7. — Amount of tax on value
CIJJICEIEIN  discounts or rebates 110 of refunds, etc.

A\ J

*If there is a value entered in ®-1 and & of Schedule 1-1 and 1-2, it represents the amount of the
transfer value of taxable assets, etc. in step 6 of P17 minus the amount of returns, discounts and
rebates multiplied by 100/108 or 100/110.

This calculation is not necessary if, as shown in the example, applying an accounting method that
directly deducts any returns, discounts or any other charges relating to sales from the amount of sales.

. step.19 Calculate the amount of tax relating to buy bad debt

In the event accounts representing the sale of merchandise or the provision of services are unrecoverable
and become bad debt, the amount of consumption tax included in those accounts receivable that became
bad debt ("bad debt") can be deducted from the amount of consumption tax levied on the tax base. Enter the
result in ® of Schedule 1-1 and 1-2.

No deductions can be claimed for bad debt unless you have kept ample documentation that certifies the
facts supporting the writing off of account receivables and provides clear details pertaining to the bad debt.

4 1\

GRIACYAEIc]  Amount relating 6.3 _ Amount of tax relating
applicable to bad debt 108 ~ to bad debt

(WZVRCYIEIE  Amount relating o, 6.24 _ Amount of tax relating
applicable to bad debt 108 ~ to bad debt

AVARCWIEICE  Amount relating % 7.8 — Amount of tax relating
applicable to bad debt 110 to bad debt

No calculations are necessary for @), ®), or ® in Schedule 1-1 or 1-2 pertaining to the amount

of tax on recovered bad debt, refunds and other charges and bad debt described below.

* Recovered account receivables relating to transfer value of taxable assets, etc. effectuated as a
Tax-exempt business

* Returns,discounts,etc. relating to transfer value of taxable assets, etc. effectuated as a Tax-exempt
business

* Account receivables relating to transfer value of taxable assets,etc. effectuated as a Tax-exempt
business

Completing your return

Calculation
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l step.20 Caluculate the subtotal of deductible tax

Calculate the "@Subtotal of deductible tax" by adding the "@Amount of deductible tax on purchases", the
"(®Amount of tax relating to refunds and other charges" and the "®Amount of tax relating to bad debt". Enter
the result in @ of Schedule 1-1 and 1-2.

"@Amount of "®Amount of tax "®Amount of tax __ "@Subtotal of
deductible tax =+ relating to refunds + relating to bad debt" deductible tax"

on purchases" and other charges"

Example: Kouno Store

The subtotal of deductible tax is obtained as follows.

GIEZREY QI Tolol [To=1o)[S8M (Enter the value in @) (column C,X) of Schedule 1-2 and @(column X) of Schedule 1-1)
¥ 950,424 +¥ 0 +¥0 = ¥950,424

VLR EV R EI e 0ol o) (Enter the value in @)(column D) of Schedule 1-1)

¥ 169,404 +¥0 +¥0 = ¥ 169,404

TRV AL o) (e 5 9 (Enter the value in @)(column E) of Schedule 1-1)

¥106,505 +¥0 +¥0 = ¥106,505

e et -ieyd (Enter the value in @(column F) of Schedule 1-1)

¥950,424 +¥ 169,404 +¥ 106,505 = ¥ 1,226,333

l step.21 Calculate the balance or the amount of tax refundable for insufficient deduction

Calculate the balance by subtracting the subtotal of deductible tax from the consumption taxes on taxable
sales (the sum of the consumption tax and the amount of tax adjustment for excess deduction) and enter the
result in @ of Schedule 1-1 and 1-2.

"@Amount of "®Amount of tax __ "@Subtotal of _ , )
consumption tax" F__ ajustment for deductible tax* — ' ©Balance

excess deduction"

If the result of calculation using the above formula is negative, you may claim a refund. For such as case,
calculate the amount of tax refundable for insufficient deduction using the formula below and enter the result
in ® of Schedule 1-1 and 1-2.

"@Subtotal of "@Amount of "GAmount of tax "(®Amount of tax

: W . v — ajustmentfor = refundable for
elelE LD iR consumption tax excess deduction" insufficient deduction"

Calculate the balance by ®(column F) of Schedule 1-1 from ©@(column F) of Schedule 1-1 and enter the
result in @9(column F) of Schedule 1-1.

Example: Kouno Store

The balance is obtained as follows.

(Enter the value in @(column C,X) of Schedule 1-2 and ®(column X) of Schedule 1-1)
¥ 1,048,194 +¥0 —¥ 950,424 =¥ 97,770

VLR EVE EIE R ool [To= )2 (Enter the value in 9)(column D) of Schedule 1-1)

¥243,235 +¥0 —¥169,404 =¥ 73,831

(Enter the value in @) (column E) of Schedule 1-1)
¥ 214,812 +¥ 0 — ¥ 106,505 = ¥ 108,307

(Enter the value in @)(column F) of Schedule 1-1)
¥ 97770 +¥73,831 +¥108,307 = ¥ 279,908

The total balance is obtained as follows.
¥ 279,908 —¥0 =¥ 279,908
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